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9x% 4+ 39x + 6xy + 21xz + y? + 13y + 7yz + 91z
=Bx+y)2+13@x+y)+7z(@x +y+13)
=@Bx+y)Bx+y+13)+7z(3x+y+13)
=@Bx+y+72)3x+y+13)
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(3-V7)(3++7)
=10 +2(3+7)
=164 2V7
(2v7)" =28 L1V, 52 <(2V7) <62
WP ZIZ, 5<2V7<6
LEERoT, 21<164+2V7<22 THHMH, a=21, b=2J7-5
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TANADOFERIL, (7+3+3+7+5)/5=5ThHY,

TANBOVERIE, (5+4+x+y+3)/5=5—-1=4Thsb. Zhhb,
x+y=8 (D

135, £1o, 7 AN BOBFEOSEUT,

52+ 42 + x2 +y? + 32

z -42=08

ThoHNb, Zhnb
x?+y% =34 (2)
55, x>yBXOMWEQND
x =05, y=3
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P(#)=P(An#)+P(Bn#)+P(CnTH)
o4t 6,2 3 8 1 _40+11 51 17
9711 '9710 33 15 165 165 55
fifE 2
Kb D b OISR DT,
p(B| 1) = P(Bn AH)
P(H)
T,
4 3 4
P(BnE)=§xH=£
P(H)=P(AnH)+P(BnH)+P(CNnH)
3 p 42 2 1.4 2 le5+120+44 329
978733 9710 6 33 45 3x2x11x15 990
L7z -7T,
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33 _4x30 120
P(BI) =320 =320 =329
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f)ZxEZRE L CHMBEh Lz 2y 7 7 2£ 3R

=—-x’4+ax—a
Y=73
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g(x)=—5x2+(a+2)x—3a—4

il 2
h(x)=gx)—flx)=—x*+2(a+1Dx—4a—-4=—-(x—(a+1)*+a*—2a—-3
(i) a+1=-1, T7bb, as-20L&, x=-1TRKERD.
M= h(-1) = —6a—7
(i) —2<a<20& %, x=a+1THRKERD.
M=h(a+1)=a?—-2a-3
(i) 3=Sa+1, T72bbH, 25saDé X, x=3THRKLZL5.
M=h(3)=2a-7
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(i) aS-20r%, M=—-6a—7=S0L7%%a0fMIE, —Z<aThY AR LT HHMHE
B2 DETBIRN.

(i) -2<a<20t %, M=a?-2a-3=0&Y, (a-3)(a+1)=0THDH. Zhhb

—1=a=3
L7eRoT, —1=a<?2

(i) 2Sami&, M=2a-750kY, Zhirbas:
L7235 7T, 2§a§%
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AD, CE XM D% TH Y, AD, CE DEEDARARN B THHEMD, FTREOTEHLY
BD-BA = BE - BC

ThbH. ZIT,
BD=lBA=2
3
72DT,
2:6=BE-4
BE =3
b,
CE=4—-BE=1
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AXTTADERLY,
AB DF CE _
AD CF BE
6 DF 1
4 CF 3
DF = 2CF
[FIRRIS,
BC EF AD _
CE AF DB
4 EF 4
1 AF 2
AF = 8EF
FREOFEHLY,
AF - EF = CF - DF
CF? = 4EF?
L7z -7T,
CF:EF = 2:1
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